20228 = =0l & 2B A

2N EXNFED

I 200 MSI4Y

B 210 ZAEH AL
3 213 24E4Y

Al Ol &t

At

Al A

SN-F-B-g-2 0l &k o8 B ol by Bl =2t

ES Al 1,702,825 2,235,589 Ab532,764

EXNEEH 1,702,825 2,235,589 AB32,764

200 Mel=+=¢ 1,417,300 1,873,300 A 456,000

210 BTN == 20,000 1,000,000 980,000

2183 =8¢ 20,000 1,000,000 980,000

213-05 JIEt=+ 2= 20,000 1,000,000 980,000
OMERYS AY+22 20,000

220 YAEAN 2+ 1,001,000 210,000 791,000

224 J|Et==¢& 1,001,000 210,000 791,000

224-04 NI BMHEMZEZ 1,000,000 200,000 800,000
OXNEMEA 2EZ 1,000,000

224-07 12l +¢ 1,000 10,000 A 9,000
OMLRYD XYL £ #22(24=2) 1,000

230 NILAZMM - 2= 396,300 663,300 A 267,000

231 1S 50,000 70,000 A 20,000

231-01 &3 50,000 70,000 220,000
ORsHa 9v 1A 50,000

234 tEiE 46,300 93,300 A 47,000

234-02 J|EtIEH = 46,300 93,300 247,000
OSSMNUND A BEH2 40,000
OZUASHAY 24 DE2 3,000
OREMSIIHEN BENE 2,000
OOl 401 28t HE I8 DEHR 1,000
OBAWLY 75 L 22| SOl 2e HE B 300

236 R E€3 300,000 500,000 A200,000

236-01 2 &3 300,000 500,000 A 200,000
Oong=Reg3 300,000

500 Ex3 285,525 362,289 AT6,764

510 = 12 X3S 267,947 337,289 AB9,342

511 =218x3S 267,947 337,289 AB9,342

511-01 212X 3 267,947 337,289 A69, 342
OIMESAIXIIL ZALE 79,332
OXETHEAAY =& 188,615

520 Al - EHIE XSS 17,578 25,000 AT ,422

521 Al - SHIBZXZS 17,578 25,000 AT, 422

521-01 Al - SHIEX S S 17,578 25,000 AT, 422
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N & 0l & At

SN EXNESY
HH: ENFBOA HUIA S
Col EXNHE M

o o Al

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EXNZS D 2,422,072 1,630,466 791,606
=2 267,947
< 17,578
Al 2,136,547
ENFEUR MHIA & 2,325,112 1,540,136 784,976
= 267,947
< 17,578
Al 2,039,587
EXNHY L83 52,497 43,492 9,005
N (E52) d8s 7,958 9,054 A 1,096
201 Let24E] 1,658 2,554 A 896
01 At 22l 1,238 2,158 2920
OOISX=2 ¥ SYZYE HOH A
50,000& = 19& + 12,0008 » 24& 1,238
02 23=2gl 420 396 24
ONHE2ZHAS GPSEZHHI(VRS) 2088
35,000& = 12& 420
202 044l 4,000 4,000 0
01 SLHOYI 4,000 4,000 0
OXNFSH A2EZ0fY|
600,000& = 5% + 1,000,000& * 1H 4,000
203 YR =&l 2,000 2,000 0
03 A FAH S =AY 2,000 2,000 0
OEXNHEE AXHI=IH| 2,000
301 LeBAF 300 500 2200
09 SAEHIX A S 300 500 A 200
O3A&EE2 F= & 2SS0 28 EE At
BHHE HSFEML &4
100,000& = 1H « 33| 300
INES ISR 44,539 34,438 10,101
201 Let24E] 6,018 5,941 Va4
01 At 2t 2l 6,018 5,941 Va4
OXNFHL £A2F7Y
380,000& = 12J#& + 300,000& 4,860
ORALSE SAEX
17,6103 » 58tA «128 + 20,1203 * 59fA 1,158
202 044l 2,400 1,800 600
01 = LH o4 1l 2,400 1,800 600
OXNEZEHLFANYI 600,000& » 49H 2,400
207 & O & H] 36,121 26,697 9,424
02 & AR 2] 36,121 26,697 9,424




A EXNEEDL

HH: ENFBOA HUIA S

? EXNEE At (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXXEZAM 0/B 5 21,391
ORSUESHIBRANLE RIS 12,644
OFSUEESRALE HAZBELSSISWR X
g2 2,086
HESAXI 29 211,132 257,678 A 46,546
= 79,332
Al 131,800
HeRgas 20 = 51,700 92,900 A 41,200
201 Let24dy] 20,700 42,900 222,200
01 At 22/l 20,700 42,900 A 22,200
OMNLRYS LHEI 242
3,000,000& = 4A 12,000
oMLY Z2ANEXI AS +42
84,000& * 100A 8,400
OlgHE 28 =4 ¢ 300
207 O] 30,000 40,000 A 10,000
01 2289 30,000 40,000 A 10,000
Ot g d4F=el 29|
2,000,000& = 152 30,000
802 BtEt= DI EF 1,000 10,000 A9,000
03 JIEtEtEt 3 S 1,000 10,000 A9,000
ONg=REa IR S &=23 1,000
HEZSAIXIOE ZAF - &HE 159,432 164,778 N5,346
= 79,332
Al 80,100
201 L2l 152,832 156,578 N3,746
= 76,332
Al 76,500
01 At 22l 152,832 156,578 A 3,746
OMESANXIN} dESx=2 137,182
= 67,182
Al 70,000
OMNESAIXI 228 &=% M
55,0003 = 40012 + 23] 4,400
OXNHgRE A 2235 7L 4,400
2 4,400
OSSHNATAAAS ALY
70,000& = 10 = 33 2,100
ORSUIIATAARS AIEA
25,000 = 105 = 33 750
= 750
OMESAIXIL ZAH MHEE ARES 7€ 2,000
= 2,000
OMESAX I ZALME 22T g4l 2,000
= 2,000




A EXNEEDL

HH: ENFBOA HUIA S

S HESAXIN 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 6,600 8,200 A 1,600
2 3,000
Al 3,600
01 = LH 4 Hl 6,600 8,200 A 1,600
OXIJtEAE S =AW HI 600,000& * 64 3,600
OEXNELIAMN d2EFT AL 3,000
= 3,000
FS& FH 2o 51,302 74,732 A 23,430
< 7,578
Al 43,724
S z2el 26,042 24,732 1,310
201 Let24d] 21,342 20,632 710
01 At 22l 16,792 15,012 1,780
OURET ZASK 7
17,6103  48fA « 1204 846
Ool&E7 ZEHARSES ¢
192,940 * 304 » 1204 & 6,946
OME Xt Hat2F CIXITH 3,000& * 50AH 150
ORESHN N =y 228 49
55,0003 * 20004 = 23] 2,200
OFsat)e] HEHE ot cISe! M
700& = 3,0000H 2,100
ONLSASHAF WFWIH I
3,500& » 1,300% 4,550
02 =224l 4,550 0 4,550
OfERZ 500& * 1,300& * 73l 4,550
202 044l 4,200 3,600 600
01 SLHOIYI 4,200 3,600 600
Ozttt =TI 600,000& = 79H 4,200
301 LEMZ 500 500 0
09 HALAHIX A S 500 500 0
OZ3USHAIYE <t HIFXHZ2 FEFWL 4
=l 100,000& = 1 « 53] 500
FSULRACNMESISEEXY 23 25,260 50,000 AN24,740
< 7,578
Al 17,682
201 Let24E] 16,790 20,000 A 3,210
< 5,037
Al 11,753
01 At 22/l 9,000 10,000 A 1,000
Oos2=E35 M& 12,5002 * 4004 5,000
< 1,500
Al 3,500
OMEES 4,000




A EXNEEDL

HH: ENFBOA HUIA S

ool RS ZH e (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= T,200
Al 2,800
02 23224l 7,790 10,000 N2,210
OfERI 77,900& » 100S 7,790
= 2,337
Al 5,453
301 LEAF 8,470 30,000 A 21,530
< 2,541
Al 5,929
12JIE243 8,470 30,000 221,530
ozl 8,470
< 2,541
Al 5,929
E2H=A MY 265,446 237,563 27,883
< 10,000
Al 255,446
2% =4 2F - 2 255,446 227,563 27,883
201 Yete | 127,820 105,260 22,560
01 AL 22l H| 18,320 18,260 60
OZ2YFA 222 N W=
10,000 * 1,650 16,500
OFAEEREE A
70,0003 * 99 = 23| 1,260
OXNgAJs &&= 70,0008 » 48 ~ 23] 560
02 =224l 109,500 87,000 22,500
OE2IE d=XZA & RAE+ 37,000
02024 2 HME Yl =2 H B HH| 30,000
OHEHSE M= AL & RAE=> 38,000
ORERS 3,00021 = 1,500& 4,500
202 O4dl 3,600 3,000 600
01 = LHO YI 3,600 3,000 600
OE2Y=A HRFEXNYI 600,000& » 69 3,600
401 Al HI L 2 THYI 80,000 87,000 A7,000
01 A& HI 80,000 87,000 A7,000
OoxgsE E=23e M& 2 &X
400,000& = 504 20,000
OEdNE E2FE M&E & &X
300,000& = 1004 30,000
OL=2gHIN OE AUHAIE M 2 &X
300,000 = 7500 + 15,000& * 50074 30,000
403 MtXISHHE X201 & 44,026 32,303 11,723
02 SO 2SOIHeH 2R 2 E A I 44,026 32,303 11,723
OINFLTFEANLAE X2 18,866




2N

EXNFEE Y

M ENELOY MHA B
Cel: S2HFA ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OE2Y=AJ|IE2k |A2e 25,160
T el Z29E=2 FHl 10,000 10,000 0
< 10,000
401 Al Bl 28I 10,000 10,000 0
< 10,000
01 A& HI 10,000 10,000 0
Ok 2l 2952 T2ZHOHUHAIE &X 10,000
< 10,000
BPNR=DNE=EE= 1,744,735 926,671 818,064
= 188,615
Al 1,556,120
K= THZE AFALS 1,556,120 671,530 884,590
201 et 53,120 39,730 13,390
01 At 22l 53,120 39,730 13,390
OZXFINY LI 242
4702 Xl = 45,0008 = 291 2 42,300
OXNETHEAR &S &=
70,000& * 6Y 23] 840
OANZEAAS HMag
70,000& = 13Y « 23] 1,820
OMEAAY E2=S ME  8,0008 * 800 6,400
OMZALAIS EE &9 M=
55,000& = 8 « 43| 1,760
202 O4dl 3,000 1,800 1,200
01 = LH YI 3,000 1,800 1,200
OXNETHEZ=AL H2=2 OdHl  600,000& = 5H 3,000
301 LEEAS 1,500,000 630,000 870,000
12 JIEtEA S 1,500,000 630,000 870,000
OXETHZAAY ZE S 1,500,000
KNETHEALALE =& 188,615 255,141 A 66,526
= 188,615
201 Let24d] 188,615 255,141 A 66,526
= 188,615
01 At 22l 188,615 255,141 A 66,526
OXNETE=AN ES== 182,050 * 940E X 171,127
= 171,127
OJNEH Sgy+4+2 8,556
= 8,556
O3XHE HAG A W= 8,932
= 8,932
HE2LAZH(EXNZEE D) 96,960 90,330 6,630
Jl=&l 96,960 90,330 6,630




2N

EXNFEE Y

M HYR2IAZH(EXNZED)
¢l =gl CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JlE&l 96,960 90,330 6,630
201 £B-2d| 33,600 31,950 1,650
01 At 22l 33,600 31,950 1,650
OJIEtNRES 8,200
OJIEt=EHI 6,700
OOkt & S22 2L =4I
550,000& = 349H 18,700
202 04l 57,120 52,080 5,040
01 S LHOIYI 57,120 52,080 5,040
O 2= JIS2YgRFANHI
140,000& * 34H » 128 57,120
203 YR =&t 5,040 5,100 260
04 EA2IYRFLH| 5,040 5,100 260
ORN2EYEF=AHI 420,000& = 123 5,040
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
Ound AMg HRFLH| 100,000& * 12& 1,200
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